Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to ¢valuator and /or equations written eg, 42+8

USN

Time: 3 hrs. Max. Marks:100

(03 Marks)

: d‘he rate of 8% mtergst"wWhat will be the time required to

(03 Marks)
w' (03 Marks)

What is leverage‘7 W}{at'are its types? (03 Marks)
What is time va ue of money‘7 , (03 Marks)

& vdf?f&f' 4

What do 4y0ii mean by operating cycle? > ™, (03 Marks)
What is ;orex market? | (03 Marks)
What is CAPM modc1‘7 What are its assumpt;g%ﬁ (07 Marks)
) i (07 Marks)

%3«% J "
4000 at an interest rate,of 15% and loan is to be repaid in 5
d’of next 5 years. ‘Determine equated annual installement?

(07 Marks)

&

(07 Marks)

ompute opc,ratmg cycle and cash cycle. Assume 360 days in a year.

@ # (07 Marks)
Stock of raw xﬁaterlal 2000()%4
Work in Er_ggress 14000
Finished goods | 421000
Purchases A 96000
Cost of goods sold (. /| 140000

Sales ~ 1160000
Debtors ! 32000
Creditors 16000
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LNy
The XYZ Ltd*mvéstment outlay of Rs.100000. The cash ﬂow §§§n1ated with an investment are
iven below:

Year 1 s
CFAT and BD | 25000 40000 ]
Calculate discounted pay back period at 10% dlscouﬁf%ate (07 Marks)

Briefly explain the different forms of d1v1dend,% " i (07 Marks)

(10 Marks)

For the following alternc.tlves ca’f% ¢ (10 Marks)

Period ‘Interest

Annually 10%

Semi-annually [{40( 16%

Quarterly {5000 12%

Monthly . . [*3000 12%

B1—mont¥igz_k 2000 10%
’ﬁ%w

A compa“‘ﬁ%has to choose betwee&}? ects namely A and’B. The initial capital outlay of 2
projects are Rs. 135000 and Rs. 2,40,000 respectlve;% ObvA and B Th ~cost of capital of the
company is 16%. The annual, %.sh flows after tax and’

Year 5

Project A 84000 84000

Project B i f102000 90000
You are required to Galculate the NPV for%% I 3 Wm%"’ (10 Marks)
Explain the factors influencing an divi@;gﬁngi policy. ¢ (10 Marks)

While preparmg a project repo ﬁn&ehalf of a che%;%
Estimate @Q‘m@et working caplt‘ v

Raw-materidl
Dirgct labour
O(?&rheads
fﬁﬁ&luswe depr of Rss

Total Cost g%%
Additional 1nf0f‘n‘tat10n
(1) Sellmg“*"prlce/PU Rs.2004

(i)  No. of units produced.}04000 units.
(il) Raw — material in sto
(iv)  Workin progress (Sv 0) —2 weeks

(v) Finished goods irf ‘stock — 4 weeks
(vi)  Credit allo“f%d”by suppliers — 4 weeks

(vii) Ve
(viii) Lag in paynient of wages — 1.5 weeks.

(ix) Casb’gt bank — Rs. 25000 (10 Marks)
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6 Briefly explain the different factors influencing in capital structu (10 Marks)

7  Explain the following terms:

(i) Derivatives

(ii) Merger and Acquistions

(iii)  Hybrid finance.

(iv) Private equity (10 Marks)
From the following prepare incom¢ (20 Marks)

B

Financial leverage . »

3.1 A1 ’

Interest (Rs.)

200 300

Operating leverage

44 (5:1

Variable cost as¢

#50%

Income tax rat

45%




